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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 	05948 
December, 2015 

ELECTIVE COURSE : COMMERCE 

ECO-11 : ELEMENTS OF INCOME TAX 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory and attempt any three 

questions from the remaining questions. 

1. 	Dr. Verma is Chief Medical Officer. He receives 14 
a salary of 30,000 per month and dearness 
allowances of 25%. He contributes 15% of salary 
to Recognised Provident Fund to which the 
employer contributes an equal amount. He is 
provided with a rent free house in a city with 
population of 5 lakh. Its fair rental value is 

12,000 p.m. He has the following other incomes. 

(a) Dividend from a domestic company 
10,000. 

(b) Dividend from a foreign company 2,000. 

(c) Interest on debentures of co-operative 
society 6,000. 

Compare his total income for the assessment year 
2014-15. 
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2. (a) "The income of the previous year is taxed 8, 4 
in the current year". Explain and state the 
exceptions to this rule. 

(b) Define casual income and state its 
chargeability to tax. 

3. (a) What does the term 'Capital gains' signify 6, 6 
under the Income Tax Act ? Clarify and 
state the capital gains that are exempt from 
tax under section 10. 

(b) Agricultural land of Mr. Harish was 
acquired by the Government under 
compulsory acquisition on 12-08-2010 for a 
compensation of Z 7,00,000. He had 
purchased it in 1987-88 for Z 1,05,000. 
Compensation was received on 10-03-2011. 
Later on, through a court order dated 
12-05-2012, this amount was increased and 
! 1,50,000 were received on 01-02-2013. 
This piece of land was situated in urban 
area. Calculate his long term capital gain 
taxable during assessment years 2011-12 
and 2013-14. The cost Inflation index for 
the year is 1987-88 was 150; for 
2010-11 was 711 and for 2012-13 was 852. 

4. What do you mean by Annual value of a house 
property ? How is it determined 	 4, 4, 4 

(a) When a part of it is self occupied by the 
owner and the other part is let out for the 
whole year; and 

(b) When the whole house is self occupied by 
the owner for a part of the previous year 
and the whole house is let out for a part of 
the previous year. Explain with examples. 
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5. (a) What do you mean by bond washing 6, 6 
transactions ? How is it regarded as a 
device for avoiding tax ? 

(b) Explain the scope of total income for : 

(i) resident in India, and 

(ii) not ordinarily resident in India. 

	

6. 	Write short notes on any two of the following : 6, 6 

(a) Carry forward of losses 

(b) Tax free perquisites 

(c) Partly Agricultural Income 

(d) Exemption regarding children education 
allowance and hostel allowance. 

	

7. 	(a) What are the consequences of delay in filing 6, 6 
income tax return. 

(b) What do you understand by PAN ? What 
are the consequences for failure to apply for 
allotment of PAN ? 
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I-1RM 311TraT chi sh1.1 

1T-Afa.  trftaTr 
ki 141 2015 

#WW LI 	I ckti H : 

: auE -*-T* TER 'ffM 

t(/+/q : 2 liu2 	 3TraiWUTT 34-  : 50 

749- 	ar~g-i*ci WI . 7:7 ch.6 	777 mql *- 

dri( 	ft§7. / 

1. 	31. 	Tf 1:1f 143-1-* 3ich747 t I 11fff TiRT 3 	14 

30,000 cicil "R* ZR ITT 25% TreTT 1 ITT fgrdM t 

dol 4 15% 	31T71 lifTzt 	(RPF) 14 

tTgrff cbtoi t 1,4q 	t 3011 t 	4TT7ff 

chtC11 t 13t 5 nits 	aTfftcIic qi( 	gRI 

f*-171T 13WF 	 Reif roTT t RTR-I 	 f*-77fT 

	 12,000 -5ft 14R111 3 ,1 4 3-P4 3Trzi ki—trofigo 

fie : 
(a) 1 	1 i5, i  tftqck-li* 10,000. 

(b) Wet 	fqte 44-11 Z 2,000. 

(c) R•W 1,M4ft TIY{Tr4t 	TR vrcu .e401, 

6,000. 

ffftliTIT Ti 2014-15 	313 4 To 3T171 

' quilt 414R I 
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2. (a) "TM -44 	31P:f 	 qiiiien \in 8, 4 
ti" cku(sen .41 	Ti 3T1T-di i 

-1§r 

(b) aTT-*-1-P:rw 31T4 	7fti-TTETTW--4R 

3 4TP:IT (Chargeability to tax) TT dc-cilN 

I 

3. (a) 31P:1-TT 3f9f9-zr1 	' 7011M 	kloq 	;En 6, 6 
am-rzr t?Tcrtz 	-fftll 9-ru 10*af-d-rfa- 

41Trd --1-F-4R 

(b) 12-08-2010 	Wch i t 7171 	lift 

33ftrritftW77 

7,00,000 W.  kitTLF4 	31T.117 1:17 177t I 

di4 	9.04 1987-88 4 1,05,000 41 

211-  I 371 10-03-2011 	kir-d1:0 	771 

	

I Wg -4 12-05-2012 1 cfN 	31-fth 
317.- f-u 	ufvr 14' 11-z 	Tpr' 331T d'4 

01-02-2013 	1,50,000 at F4-1(4 I 404 -*-T 

zff T*7 `171-  (urban) #q -ft-21-ff 2TT I 2011- 
12"ff2TT 2013-14 	ritTiTuT citiT 	Frt 	 314 t 
q144)1(41-1 1-41-Tru R I 4,44 

-Fhlt 	cr.) riHrofigo t : 

1987-88 150 

2010-11, 711 

2012-13 852 
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4. 	lihl-f Tftrffl. 	-dIFT5fW 1T- f 	3-117 T cruet? 

#P-TW 4 3TrET 	iluvir 
o 	 4, 4, 4 Trf 	 

(a) qk 	%TT 4-Ich 	 gRI 3791-  
-ft-gzrwr(i771)Trf-*-zrriqit721riltiii-FT -t 

-13f 	f-*--Tr7 	ddl trr TRTT t I 

(b) 7zfrt 	4-fibll 	TM 	TI 

	

3-Tafg 4 31-74 31-741-  frepT 	771-17 cnicll 
t 47 -71731--afq -4f-*7-7 -9-Tdattaitt 

5. 	(a) Fq(511e.1 	 (Bond Washing Transactions) 6, 6 
3Trcr 	cte(I 	 71-0:1# t ? 	T7 -q-qT4 

fqfq c*4 4-11-11 \Aid! t? 

(b) 	(i) 	i-TT-cd f5-41-t *WF- 1 air 
(ii) 	9.17ff -4 tii11i.-q 	fa-a-R# 

3Trzr 	otlksql 	I 

6. 	F-1 4--1F-Ircirtld if A f-*--4' t TfRT7 	I 6, 6 
(a) 'TTF-974 	3-1T4 Alchk If4 

(b) liTff 31-VTIT (Perquisites) 

(c) 3#17: 	31N 

(d) 	fMiT %MT 	%MT 	lifTT 

7. 	(a) aTTET T1.  31FIT7 run 	7f1T cbt; 	TT 6, 6 

4r0114-i alai t? 

(b) 'MUT 4(9.0-4 I A 3-79 cN 	? P-TPft 

(51d1 titSe.11 	31.74e9 -kf7 11.2.1-ffT 	4 v.> 
enk4 	el-q1 	 ? 
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